REVISIONS

REV ECN # DESCRIPTION REV. BY/DATE APR. BY
Al REDRAWN & UPDATED IN SOLIDWORKS 07/91
ITEM NO.|QTY.| PART NO. DESCRIPTION ITEM NO.[QTY.| PART NO. DESCRIPTION
67 4 |FA1076 __ |BOLT, SOCKET HEAD, 1/4-20 x 1/2 1 1_|SA1010-8-L|FIXED HI-LO LEFT "A" FRAME ASSY
68 2 |FA1078  |BOLT, SOCKET HEAD, 3/8-16 x 1 2 1 [SA1010-8-RIFIXED HI-LO RIGHT 'A' FRAME ASSY
69 4 |FA1080 _ |BOLT, BUTTON HEAD, 5/16-18 x 2 1/2 3 2 |SA1033-1_|RIGHT TOP PLATE ASSY
70 4 |FA1087 _ [SCREW, SET, SCKT, CUP POINT, 1/2-13 x 3/4 4 2 |SA1033-2 |LEFT TOP PLATE ASSY
71 25 |[FA1101__ |STUD, 1/2-13x21/2 5 1_[SA1034-1 [CROSSBEAM ASSY #1
72 16 |FA1102 _ |WASHER, NYLON, 5/8 ID x 15/16 OD x 3/32 6 1_|SA1034-3 [CROSSBEAM ASSY #3
73 44 |FA1106__ |WASHER, FLAT, 5/16 ID x 11/16 OD 7 8 |SA1035 _ |SWIVEL PULLEY HOUSING ASSY
74 2 |[FA1107 _ |WASHER, FLAT, 3/8 1D x 13/16 OD 8 2 |SA1036-1 |TOP BEAM ASSY #1
75 91 |[FA1109 _ |WASHER, FLAT, 1/2 1D x 1 1/16 OD 9 1_|[SA1037-1 |BOTTOM BEAM ASSY LEFT #1
76 44 [FA1116__ |WASHER, SPLIT, 5/16 ID 10 1_|[SA1038-1 [STRAIGHT UPRIGHT ASSY #1
77 2 |FA1117__ |WASHER, SPLIT, 3/8 ID 11 2 |SA1038-2 |PULLDOWN UPRIGHT ASSY #2
78 69 |[FA1119  |WASHER, SPLIT, 1/2 ID 12 1_|SA1038-3 [PUSHDOWN UPRIGHT ASSY #3
13 1_[SA1039-1 |RIGHT BOTTOM BEAM ASSY #1
14 1 [SA1042  [LONGPULL SEAT ASSY
15 2 |SA1045-2 |PULLDOWN SEAT ASSY
16 1_[SA1117__ |ADJ. LEVELING FOOT ASSY (15 DEG)
17 1_[SA1512  [LONG PULL ADAPTER BKT, 6" ASSY
18 1 [SA1513  [MULTI-STATION END CAP
19 4 [SA1516 _ |LINK BRKT. ASSY
20 2 |SA3020  |THIGHT PAD ADJUSTER ASSY
21 1_|AC0212B_[LABEL, INSTRUCTION, "PUSHDOWN 212"
22 8 |AC218 HANDLE END CAP W/SET SCREWS, DIA 1"
23 2_|AC219 HANDLE RETAINER RING W/SET SCREW, 1.040" I.D.
24 2 |AC220 HANDLE END CAP W/SET SCREWS, DIA 3/4"
25 1_|AC0302B |LABEL, INSTRUCTION, "LONGPULL 302"
26 2 |AC0304B |LABEL, INSTRUCTION, "PULL DOWN 304"
27 8 |AC1002__ |LABEL, "ICARIAN", 3 1/2 x 21 1/2
28 16_|AC1009 __|PULLEY, 4 1/2" DIA x 1/2" ID
29 9 |AC1010 _ |PULLEY, 6" DIA x 1/2" ID
30 16 _|AC1040 _ |CAP, GUIDE ROD, DIA. 3/4
31 2 |AC1051-MS[SNAP PIN, SMALL M-PULL
32 9 |AC1057 |CAP, BLACK PLASTIC,2x 4
33 8 |AC1058 _ |CAP, BLACK PLASTIC, 2 x 2
34 16 |AC1148 __ |WEIGHT STACK BUMPER
35 4 |AC1161__ |LABEL, ROUND, "MADE IN USA"
36 1_|AC1164__|LABEL, F.P.I. SERIAL NUMBER
37 4 |AC1183  |LABEL, "WARNING, SERIOUS INJURY..."
N 38 2 |AC1225-6 |RUBBERGRIP, DIA 3/4 x (6)
- ) 39 4 |AC1226-6 |RUBBERGRIP, DIA 1 x (5 1/2)
i. =i 40 4 |AC1226-15 |[RUBBERGRIP, DIA 1 x (15)
S—ml ~—H
i TSk E? £ 41 2 |AC1236-P_|PLASTIC GLIDE WITH PLUG
S EE 2aS=- 42 2 |AC1236-H |PLASTIC GLIDE WITH HOLE
Eg Bz S=22 Ezi 43 16_|CH1218 | STEEL BAR RND, DIA. 3/4" x (80 3/4), #8
S=c ilS=-lS=2 44 1_|CP1020 _ |CUT PIECE, CREPE, 1/4 x 17 x 26
Egg;: :2;;5 E?ﬁ 45 1_|cP1021 __ [CUT PIECE, CREPE, 7/16 x 12 x 23 13/16, NOTCHED
a?;;i S=2- S If 46 8 |CP1081 _ |CUT PIECE, ABS CHANNEL, 1/8 x 2 x 4 1/4 x 12
E‘i:' E?EEE E?E :é = 47 12 [CP1165 | VINYL HOSE, 5/8 OD x 3/8 ID x (1 1/2)
t?}; S ~—4 A I o g 48 4 |CP1190  |ABS BLACK, 1/8 x 1 x 4 3/4, 2 HOLES
S=cieN= N Ll B »cg»-ﬁg 49 1_|PD1102__|PAD, 9 x 36, 4 HOLES
E?i; .ngj—-__y = E; E !95:155 50 3 |PD1105  |PAD, 9 x 17, 4 HOLES
sl E% SHIZEsZ= g 51 2 |PD1141 _ |PAD, 4 x 19, 2 HOLES
) ‘5\44/ =?” SHIZ Egi::; 52 4 |PF1016 _ |STEEL BAR FLAT CR/HR, 3/8 x 2 x (8 1/4)
, L E%’ S E Egggig 53 2 |WS1503 |WEIGHT STACK, 24 PLATE, 150 LBS.
- ﬁ% sSHiI= :52:;; 54 2 |WS1504 |WEIGHT STACK, 24 PLATE, 150 LBS.
E’% S ;» E?EE:g 55 4 |WS2500 |WEIGHT STACK, 25 PLATE, 250 LBS.
E% = B3 E?’EL’_—% 56 3 |FA1010 _ |BOLT, HEX HEAD, 1/2-13 x 7/8
Q%I S ‘gz #"’551 57 16_|FA1011__|BOLT, HEX HEAD, BLK, 1/2-13 x 1
‘ E%Z. H ﬁsgg;-n" ' 58 12 |[FA1017 _ [BOLT, HEX HEAD, BLK, 1/2-13 x 3 1/2
] ﬁ\tyl’f’ ss\,/l — I 59 24 |FA1020  |BOLT, HEX HEAD, BLK, 1/2-13x 5
% / 60 36 |FA1030 _ |NUT, HEX, NYLOCK, 1/2-13
- 61 50 |FA1035__ |NUT, HEX, ACORN, 1/2-13
= = 62 16 |FA1037 _ |NUT, HEX, 5/16-18
63 8 |FA1045  |NUT, HEX, NYLOCK, 5/8-11
64 8 |FA1055  |NUT, INSERT, 5/16-18
65 12 |FA1072__ |BOLT, BUTTON HEAD, 5/16-18 x 1 1/2
66 28 |FA1074 _ |BOLT, BUTTON HEAD, 5/16-18 x 3

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

FITNESS PRODUCTS INTERNATIONAL
ICARIAN FLITE ABENCH JADE STRETCH CENTER
12660 BRANFORD ST. SUN VALLEY, CA. 91352

TOLERANCES ARE:
FRACTIONS  DECIMALS  ANGLES
+1/32 XX+ .01 + 1<l

. MQD-DEG!
XXXt .005 APPROVALS DATE TITLE SC.ALE
THIRD ANGLE PROJECTION  |oesicnener AN | 07/91 TEN STATION S]H'E%O
. G wobELEDSY  RSG | 06/98 MULTI-STATION 141
[WEIGHT: 2880 Ibs] N ovmsr  RIB | 0898 |SZE | oo REV
DO NOT SCALE DRAWING APPROVED BY B 820_ASS Y A

1/28/2004



820 Ten Station, Multi Station

Part Number

CW32154-211
CW32154-221
CW32154-231
CW32154-241
CW32154-251
CW32154-261
CW32154-271
CW32154-281
CW32154-291
CWwWa32154-311
CW32154-321
CW32154-331
CW32154-341
CW32154-351
CW32154-361
CWa32155-211
CW32155-221
CW32155-231
CW32155-241
CW32155-251
CW32155-261
CW32155-271
CW32155-281
CW32155-291
CW32155-311
CW32155-321
CW32155-331
CW32155-341
CW32155-351
CW32155-361
Cw31867-211
CWw31867-221
CW31867-231
CWwW31867-241
CW31867-251
CW31867-261
CWw31867-271
CW31867-281
CW31867-291
CWw31867-311
CW31867-321
CW31867-331
CW31867-341
CW31867-351
CW31867-361
Cwa31710-211
CWwW31710-221
CWwW31710-231
CW31710-241

Description

WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.

WELDMENT, ADJ

WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.

WELDMENT, ADJ

WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.
WELDMENT, ADJ.

"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,

"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, LEFT, PT,
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT,
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT
"A" FRAME, RIGHT, PT

WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION, 9 3/4, W/1 FL
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU

Bubble Number

1.01
1.02
1.03
1.04
1.05
1.06
1.07
1.08
1.09
1.11
1.12
1.13
1.14
1.15
1.16
2.01
2.02
2.03
2.04
2.05
2.06
2.07
2.08
2.09
2.11
2.12
2.13
2.14
2.15
2.16
3.01
3.02
3.03
3.04
3.05
3.06
3.07
3.08
3.09
3.11
3.12
3.13
3.14
3.15
3.16
4.01
4.02
4.03
4.04



CWwa31710-251
CWa31710-261
Cwa31710-271
Cwa31710-281
CWwa31710-291
Cwa31710-311
Cwa31710-321
CWwa31710-331
CW31710-341
Cwa31710-351
CWwa31710-361
Cwa31937-211
CWwa31937-221
CWwa31937-231
CWwWa31937-241
CWwa31937-251
CW31937-261
Cwa31937-271
CWwa31937-281
CWwW31937-291
Cwa31937-311
Cwa31937-321
CWwa31937-331
CW31937-341
CWwa31937-351
CW31937-361
CWSA10343-211
CWSA10343-221
CWSA10343-231
CWSA10343-241
CWSA10343-251
CWSA10343-261
CWSA10343-271
CWSA10343-281
CWSA10343-291
CWSA10343-311
CWSA10343-321
CWSA10343-331
CWSA10343-341
CWSA10343-351
CWSA10343-361
CW31945-211
CW31945-221
CW31945-231
CW31945-241
CW31945-251
CW31945-261
CW31945-271
CW31945-281
CW31945-291
CW31945-311

WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION 10 1/2, W/1 PU
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CONNECTION, 95", CROSSBEA
WELDMENT, CROSS BEAM, #3, SKY WHITE
WELDMENT, CROSS BEAM, #3, BLACK
WELDMENT, CROSS BEAM, #3, RED
WELDMENT, CROSS BEAM, #3, PLT SPRKL
WELDMENT, CROSS BEAM, #3,SILVER
WELDMENT, CROSS BEAM, #3,BLUE
WELDMENT, CROSS BEAM, #3, CHARCOAL
WELDMENT, CROSS BEAM, #3, CATH GRAY
WELDMENT, CROSS BEAM, #3, SILVER VI
WELDMENT, CROSS BEAM, #3, STONE GRA
WELDMENT, CROSS BEAM, #3, TITANIUM,
WELDMENT, CROSS BEAM, #3, WHITE GLO
WELDMENT, CROSS BEAM, #3, BLACK ONY
WELDMENT, CROSS BEAM, #3, LT BRONZE
WELDMENT, CROSS BEAM, #3, SAPPHIRE
WELDMENT, BOTTOM BEAM, RIGHT, SKY W
WELDMENT, BOTTOM BEAM, RIGHT, BLACK
WELDMENT, BOTTOM BEAM, RIGHT, RED
WELDMENT, BOTTOM BEAM, RIGHT, PLATI
WELDMENT, BOTTOM BEAM, RIGHT, SILVE
WELDMENT, BOTTOM BEAM, RIGHT, BLUE
WELDMENT, BOTTOM BEAM, RIGHT, CHARC
WELDMENT, BOTTOM BEAM, RIGHT, CATHE
WELDMENT, BOTTOM BEAM, RIGHT, SILVE
WELDMENT, BOTTOM BEAM, RIGHT, STONE

4.05
4.06
4.07
4.08
4.09
4.11
4.12
4.13
4.14
4.15
4.16
5.01
5.02
5.03
5.04
5.05
5.06
5.07
5.08
5.09
5.11
5.12
5.13
5.14
5.15
5.16
6.01
6.02
6.03
6.04
6.05
6.06
6.07
6.08
6.09
6.11
6.12
6.13
6.14
6.15
6.16
7.01
7.02
7.03
7.04
7.05
7.06
7.07
7.08
7.09
7.11



CW31945-321
CW31945-331
CW31945-341
CW31945-351
CW31945-361
Cwa31941-211
CwWa31941-221
CW31941-231
CwW31941-241
CW31941-251
CW31941-261
CwWa31941-271
CwW31941-281
CwW31941-291
CWwa31941-311
CWw31941-321
CW31941-331
CW31941-341
CW31941-351
CW31941-361
CW31943-211
CW31943-221
CW31943-231
CW31943-241
CW31943-251
CW31943-261
CW31943-271
CW31943-281
CW31943-291
CW31943-311
CW31943-321
CW31943-331
CW31943-341
CW31943-351
CW31943-361
Cw11311-102
Cw11311-103
CW30639-211
CW30639-221
CW30639-231
CW30639-241
CW30639-251
CW30639-261
CW30639-271
CW30639-281
CW30639-291
CW30639-311
CW30639-321
CW30639-331
CW30639-341
CW30639-351

WELDMENT, BOTTOM BEAM, RIGHT, TITAN
WELDMENT, BOTTOM BEAM, RIGHT, WHITE
WELDMENT, BOTTOM BEAM, RIGHT, BLACK
WELDMENT, BOTTOM BEAM, RIGHT, LIGHT
WELDMENT, BOTTOM BEAM, RIGHT, SAPPH
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, TOP BEAM W/2 CONNECTIONS,
WELDMENT, BOTTOM BEAM, LEFT, SKY WH
WELDMENT, BOTTOM BEAM, LEFT, BLACK
WELDMENT, BOTTOM BEAM, LEFT, RED
WELDMENT, BOTTOM BEAM, LEFT, PLATIN
WELDMENT, BOTTOM BEAM, LEFT, SILVER
WELDMENT, BOTTOM BEAM, LEFT, BLUE
WELDMENT, BOTTOM BEAM, LEFT, CHARCO
WELDMENT, BOTTOM BEAM, LEFT, CATHED
WELDMENT, BOTTOM BEAM, LEFT, CATHED
WELDMENT, BOTTOM BEAM, LEFT, STONE
WELDMENT, BOTTOM BEAM, LEFT, TITANI
WELDMENT, BOTTOM BEAM, LEFT, WHITE
WELDMENT, BOTTOM BEAM, LEFT, BLACK
WELDMENT, BOTTOM BEAM, LEFT, LIGHT
WELDMENT, BOTTOM BEAM, LEFT, SAPPHI
ENDCAP, REC TUBE, 2X4, BLK PLASTIC
ENDCAP, REC TUBE, 2X2, BLK PLASTIC
WELDMENT,PULLDOWN UPRIGHT, SKY WHIT
WELDMENT,PULLDOWN UPRIGHT, BLACK
WELDMENT,PULLDOWN UPRIGHT, RED
WELDMENT,PULLDOWN UPRIGHT, PLATINUM
WELDMENT,PULLDOWN UPRIGHT, SILVER
WELDMENT,PULLDOWN UPRIGHT, BLUE
WELDMENT,PULLDOWN UPRIGHT, CHARCOAL
WELDMENT,PULLDOWN UPRIGHT, CATHEDRA
WELDMENT,PULLDOWN UPRIGHT, SILVER V
WELDMENT,PULLDOWN UPRIGHT
WELDMENT,PULLDOWN UPRIGHT, TITANIUM
WELDMENT,PULLDOWN UPRIGHT, WHITE GL
WELDMENT,PULLDOWN UPRIGHT, BLACK ON
WELDMENT,PULLDOWN UPRIGHT, LIGHT BR

7.12
7.13
7.14
7.15
7.16
8.01
8.02
8.03
8.04
8.05
8.06
8.07
8.08
8.09
8.11
8.12
8.13
8.14
8.15
8.16
9.01
9.02
9.03
9.04
9.05
9.06
9.07
9.08
9.09
9.11
9.12
9.13
9.14
9.15
9.16
10

11
12.01
12.02
12.03
12.04
12.05
12.06
12.07
12.08
12.09
12.11
12.12
12.13
12.14
12.15



CW30639-361
Cwa30641-211
CwWa30641-221
CwW30641-231
CwW30641-241
CwW30641-251
CW30641-261
CwW30641-271
CwW30641-281
CwW30641-291
Cw30641-311
CwW30641-321
CwW30641-331
CW30641-341
CW30641-351
CW30641-361
CWwa31863-211
CWa31863-221
CW31863-231
CW31863-241
CW31863-251
CW31863-261
CWa31863-271
CW31863-281
CW31863-291
CWw31863-311
CWwW31863-321
CW31863-331
CW31863-341
CW31863-351
CW31863-361
CwW30640-211
CW30640-221
CW30640-231
CW30640-241
CW30640-251
CW30640-261
CW30640-271
CW30640-281
CW30640-291
CW30640-311
CW30640-321
CW30640-331
CW30640-341
CW30640-351
CW30640-361

CWGR2506-000
CWTAYNO031-300
CWWBKNO031-007
CWWALYNO031-008
CWTAYNO031-300

WELDMENT,PULLDOWN UPRIGHT, SAPPHIRE
WELDMENT,THIGH PAD ADJUSTER, SKY WH
WELDMENT,THIGH PAD ADJUSTER, BLACK
WELDMENT,THIGH PAD ADJUSTER, RED
WELDMENT,THIGH PAD ADJUSTER, PLTSPR
WELDMENT,THIGH PAD ADJUSTER, SILVER
WELDMENT,THIGH PAD ADJUSTER, BLUE
WELDMENT,THIGH PAD ADJUSTER, CHARCO
WELDMENT,THIGH PAD ADJUSTER, CTHDRL
WELDMENT,THIGH PAD ADJUSTER, SLV VN
WELDMENT, THIGH PAD ADJUSTER, STONE
WELDMENT,THIGH PAD ADJUSTER, TITANI
WELDMENT,THIGH PAD ADJUSTER, WHITE
WELDMENT,THIGH PAD ADJUSTER, BLACK
WELDMENT,THIGH PAD ADJUSTER, LTBRON
WELDMENT,THIGH PAD ADJUSTER,SAPPHIR
WELDMENT, SEAT, LONG PULL,SKY WHITE
WELDMENT, SEAT, LONG PULL, BLACK
WELDMENT, SEAT, LONG PULL,RED
WELDMENT, SEAT, LONG PULL, PLATINUM
WELDMENT, SEAT, LONG PULL, SILVER
WELDMENT, SEAT, LONG PULL, BLUE
WELDMENT, SEAT, LONG PULL, CHARCOAL
WELDMENT, SEAT, LONG PULL, CATHEDRA
WELDMENT, SEAT, LONG PULL, SILVER V
WELDMENT, SEAT, LONG PULL, STONE HG
WELDMENT, SEAT, LONG PULL, TITANIUM
WELDMENT, SEAT, LONG PULL, WHITE GL
WELDMENT, SEAT, LONG PULL, BLACK ON
WELDMENT, SEAT, LONG PULL, LTBRONZE
WELDMENT, SEAT, LONG PULL, SAPPHIRE
WELDMENT,PULLDOWN SEAT, SKY WHITE
WELDMENT,PULLDOWN SEAT, BLACK
WELDMENT,PULLDOWN SEAT, RED
WELDMENT,PULLDOWN SEAT, PLATINUM SP
WELDMENT,PULLDOWN SEAT, SILVER
WELDMENT,PULLDOWN SEAT, BLUE
WELDMENT,PULLDOWN SEAT, CHARCOAL
WELDMENT,PULLDOWN SEAT, CATHEDRAL G
WELDMENT,PULLDOWN SEAT, SILVER VIEN
WELDMENT,PULLDOWN SEAT
WELDMENT,PULLDOWN SEAT, TITANIUM HG
WELDMENT,PULLDOWN SEAT, WHITE GLOSS
WELDMENT,PULLDOWN SEAT, BLACK ONYX
WELDMENT,PULLDOWN SEAT, LIGHT BRONZ
WELDMENT,PULLDOWN SEAT, SAPPHIRE BL
GRIP,RUBBER,3/4" DIA, 6"

SCREW, BUTTON HEAD, BLK XYLAN,5/16
WASHER, FLAT, TYPE A, SAE, 5/16 ID
WASHER, SPLIT, 5/16 ID, BL

SCREW, BUTTON HEAD, BLK XYLAN,5/16

12.16
13.01
13.02
13.03
13.04
13.05
13.06
13.07
13.08
13.09
13.11
13.12
13.13
13.14
13.15
13.16
14.01
14.02
14.03
14.04
14.05
14.06
14.07
14.08
14.09
14.11
14.12
14.13
14.14
14.15
14.16
15.01
15.02
15.03
15.04
15.05
15.06
15.07
15.08
15.09
15.11
15.12
15.13
15.14
15.15
15.16

16

17

18

20

21



CW30165-751
CWWBKNO031-007
CWAC1236-101
CWAC1236-102
CWKADLNO050-081
CWWALYNO031-008
CWTAYNO031-150
CWHCYNO050-350
CWWBKNO031-007
CWCAYNO038-100
CWTAYNO031-300
CWHCYNO050-500
CWWALYNO031-008
CWWBKNO038-007
CWBFNNO050-250
CWWALYNO031-008
CWWBKNO031-007
CWHCYNO050-100
CWKDYNO050-059
CWWALYNO038-009
CWWBKNO050-010
CWCP8112-000
CWHCCNO050-600
CWWALYNO050-013
CWKDYNO050-059
CWKADLNO050-081
CWCAYNO025-050
CWBFNNO050-250
CWKADLNO050-081
CWAC218-901
CWWALYNO050-013
CWGR2620-000
CWWALYNO050-013
CWBFNNO050-250
Cw30245-731
CWPD1102A-101
CWPD1102A-110
CWPD1102A-102
CWPD1102A-103
CWPD1102A-104
CWPD1104B-103
CWPD1102A-105
CWPD1102A-106
CWPD1102A-107
CWPD1102A-108
CWPD1102A-118
CWPD1102A-109
CWPD1102A-111
CWPD1102A-112
CWPD1102A-113
CWPD1102A-115

ASSY, POP PIN, 0.450 DIA HANDLE, B
WASHER, FLAT, TYPE A, SAE, 5/16 ID
GUIDE INSERT, PLASTIC WITHOUT HOLE,
GUIDE INSERT, PLASTIC WITH HOLE, BL
NUT, ACORN, 1/2-13

WASHER, SPLIT, 5/16 ID, BL

SCREW, BUTTON HEAD, BLK XYLAN,5/16
SCREW, HEX HEAD, BLK XYLAN, 1/2-13
WASHER, FLAT, TYPE A, SAE, 5/16 ID
SCREW, SOCKET HEAD, BLK XYLAN, 3/
SCREW, BUTTON HEAD, BLK XYLAN,5/16
SCREW, HEX HEAD, BLK XYLAN, 1/2-13
WASHER, SPLIT, 5/16 ID, BL

WASHER, FLAT, TYPE A, SAE, 3/8 ID
STUD, 1/2-13 X 2 1/2

WASHER, SPLIT, 5/16 ID, BL

WASHER, FLAT, TYPE A, SAE, 5/16 ID
SCREW,HEX HEAD,BLK XYLAN,1/2-13 X 1
LOCKNUT, NYLON INSERT, FULL, UNC, 1
WASHER, SPLIT, 3/8 ID, BLK XYLAN
WASHER, FLAT, TYPE A, SAE, 1/2 ID X
CUT PIECE, ABS CHANNEL,1/8 X2 X 4
SCREW, HEX HEAD, ZINC, 1/2-13 X 6
WASHER, SPLIT, 1/2 ID, BLK XYLAN
LOCKNUT, NYLON INSERT, FULL, UNC, 1
NUT, ACORN, 1/2-13

SCREW, SOCKET HEAD, BLK XYLAN
STUD, 1/2-13 X 2 1/2

NUT, ACORN, 1/2-13

HANDLE END CAP W/SET SCREWS, DIA 1"
WASHER, SPLIT, 1/2 ID, BLK XYLAN
GRIP,RUBBER, 1" DIA, 20"

WASHER, SPLIT, 1/2 ID, BLK XYLAN
STUD, 1/2-13 X 2 1/2

WELDMENT, ADJ. LEVELING FOOT,BLK ZI
PAD,FLAT,10X36,4HOLES,BLACK
PAD,FLAT,10X36,4HOLES,RASP
PAD,FLAT,10X36,4HOLES,RYL BL
PAD,FLAT,10X36,4HOLES,DVE GRY
PAD,FLAT,10X36,4HOLES,CROCUS
PAD,9X24,4HOLES,W/BP,DVE GRY
PAD,FLAT,10X36,4HOLES,GROTTO
PAD,FLAT,10X36,4HOLES,GRAPHITE
PAD,FLAT,10X36,4HOLES,RED
PAD,FLAT,10X36,4HOLES,CHN GRN
PAD,FLAT,10X36,4HOLES,IMPRL BL
PAD,FLAT,10X36,4HOLES, TURQSE
PAD,FLAT,10X36,4HOLES,PLUM
PAD,FLAT,10X36,4HOLES,REGIMENT
PAD,FLAT,10X36,4HOLES,SPC BLUE
PAD,FLAT,10X36,4HOLES,BLK LTHR

23
24
25
26
27
27
28
29
30
31
31
32
33
33
34
34
35
36
36
37
37
38
40
40
41
42
44
46
47
49
49
50
50
51
52
53.01
53.01
53.02
53.03
53.04
53.04
53.05
53.06
53.07
53.08
53.08
53.09
53.11
53.12
53.13
53.15



CWPD1102A-116
CWPD1102A-117
CWPD1102A-119
CWPD1102A-120
CWPD1102A-121
CWPD1102A-122
CWPD1102A-123
CWPD1102A-124
CWPD1102A-125
CWPD1102A-126
CWPD1102A-127
CWPD1102A-128
CWPD1102A-129
CWPD1104B-101
CWPD1104B-102
CWPD1104B-104
CWPD1104B-105
CWPD1104B-106
CWPD1104B-107
CWPD1104B-108
CWPD1104B-109
CWPD1104B-110
CWPD1104B-111
CWPD1104B-112
CWPD1104B-113
CWPD1104B-115
CWPD1104B-116
CWPD1104B-117
CWPD1104B-118
CWPD1104B-119
CWPD1104B-120
CWPD1104B-121
CWPD1104B-122
CWPD1104B-123
CWPD1104B-124
CWPD1104B-125
CWPD1104B-126
CWPD1104B-127
CWPD1104B-128
CWPD1104B-129
Cwa31891-211

Cwa31891-221

Cwa31891-231

Cwa31891-241

Cwa31891-251

CWwa31891-261

Cwa31891-271

Cwa31891-281

Cwa31891-291

Cwa31891-311

Cwa31891-321

PAD,FLAT,10X36,4HOLES,NVBL LTH
PAD,FLAT,10X36,4HOLES,PUTTY
PAD,FLAT,10X36,4HOLES,YEW GRN
PAD,FLAT,10X36,4HOLES,DSTY JDE
PAD,FLAT,10X36,4HLS, TRRA CTTA
PAD,FLAT,10X36,4HOLES,PAPRIKA
PAD,FLAT,10X36,4HLS,ASH LTHR
PAD,FLAT,10X36,4HL,CERULN LTH
PAD,FLAT,10X36,4HL,CHARCL LTH
PAD,FLAT,10X36,4HLS,HUNTER LTH
PAD,FLAT,10X36,4HLS,MOSS LTH
PAD,FLAT,10X36,4HLS,SPICE LTH
PAD,FLAT,10X36,4HLS, TOMATO LTH
PAD,9X24,4HOLES,W/BP,BLACK
PAD,9X24,4HOLES,W/BP,RYL BL
PAD,9X24,4HOLES,W/BP,CROCUS
PAD,9X24,4HOLES,W/BP,GROTTO
PAD,9X24,4HOLES,W/BP,GRAPHITE
PAD,9X24,4HOLES,W/BP,RED
PAD,9X24,4HOLES,W/BP,CHN GRN
PAD,9X24,4HOLES,W/BP,TURQSE
PAD,9X24,4HOLES,W/BP,RASP
PAD,9X24,4HOLES,W/BP,PLUM
PAD,9X24,4HOLES,W/BP,REGIMENT
PAD,9X24,4HOLES,W/BP,SPC BLUE
PAD,9X24,4HOLES,W/BP,BLK LTHR
PAD,9X24,4HOLES,W/BP,NVBL LTH
PAD,9X24,4HOLES,W/BP,PUTTY
PAD,9X24,4HOLES,W/BP,IMPRL BLUE
PAD,9X24,4HOLES,W/BP,YEW GREEN
PAD,9X24,4HOLES,W/BP,DUSTY JADE
PAD,9X24,4HOLES,W/BP,TERRA COTTA
PAD,9X24,4HOLES,W/BP,PAPRIKA
PAD,9X24,4HOLES,W/BP,ASH LTHR
PAD,9X24,4HOLES,W/BP,CERULEAN LTHR
PAD,9X24,4HOLES,W/BP,CHARCOAL LTHR
PAD,9X24,4HOLES,W/BP,HUNTER LTHR
PAD,9X24,4HOLES,W/BP,MOSS LTHR
PAD,9X24,4HOLES,W/BP,SPICE LTHR
PAD,9X24,4HOLES,W/BP,TOMATO LTHR
WELDMENT, UPRIGHT, LONG PULL, SKY W
WELDMENT, UPRIGHT, LONG PULL, BLACK
WELDMENT, UPRIGHT, LONG PULL, RED
WELDMENT, UPRIGHT, LONG PULL, PLATI
WELDMENT, UPRIGHT, LONG PULL, SILVE
WELDMENT, UPRIGHT, LONG PULL, BLUE
WELDMENT, UPRIGHT, LONG PULL, CHARC
WELDMENT, UPRIGHT, LONG PULL, CATHE
WELDMENT, UPRIGHT, LONG PULL, SILVE
WELDMENT, UPRIGHT, LONG PULL, STONE
WELDMENT, UPRIGHT, LONG PULL, TITAN

53.16
53.17
53.19

53.2
53.21
53.22
53.23
53.24
53.25
53.26
53.27
53.28
53.29
54.01
54.02
54.04
54.05
54.06
54.07
54.08
54.09

54.1
54.11
54.12
54.13
54.15
54.16
54.17
54.18
54.19

54.2
54.21
54.22
54.23
54.24
54.25
54.26
54.27
54.28
54.29
55.01
55.02
55.03
55.04
55.05
55.06
55.07
55.08
55.09
55.11
55.12



Cwa31891-331
CWwa31891-341
Cwa31891-351
Cw31891-361
Cwa31893-211
Cwa31893-221
CWw31893-231
CWw31893-241
CWwa31893-251
CWwW31893-261
Cwa31893-271
CWwa31893-281
CWw31893-291
Cwa31893-311
CWwa31893-321
CWw31893-331
CW31893-341
CWw31893-351
CWwW31893-361
CWAC220-901

CWGR2636-000

Cw12402-101
CWwW12404-101
CW12589-742

CWAC1009-101

CWPF1016-731
CWPF1218-711

CWTAYNO031-150
CWWALYNO031-008
CWWBKNO031-007

CWwa31895-211
CWwWa31895-221
CW31895-231
CWwW31895-241
CW31895-251
CW31895-261
CWwWa31895-271
CWwW31895-281
CWwW31895-291
CWwa31895-311
CWwW31895-321
CWwW31895-331
CW31895-341
CW31895-351
CW31895-361
Cwa31907-721

CWAC1009-101

CW10340-150
CWa31756-101
CWAC218-901

CWGR2612-000

WELDMENT, UPRIGHT, LONG PULL, WHITE
WELDMENT, UPRIGHT, LONG PULL, BLACK
WELDMENT, UPRIGHT, LONG PULL, LTBRO
WELDMENT, UPRIGHT, LONG PULL, SAPPH
WELDMENT, UPRIGHT, PUSHDOWN, SKY WH
WELDMENT, UPRIGHT, PUSHDOWN, BLACK
WELDMENT, UPRIGHT, PUSHDOWN, RED
WELDMENT, UPRIGHT, PUSHDOWN, PLATIN
WELDMENT, UPRIGHT, PUSHDOWN, SILVER
WELDMENT, UPRIGHT, PUSHDOWN, BLUE
WELDMENT, UPRIGHT, PUSHDOWN, CHARCO
WELDMENT, UPRIGHT, PUSHDOWN, CATHED
WELDMENT, UPRIGHT, PUSHDOWN, SILVER
WELDMENT, UPRIGHT, PUSHDOWN, STONE
WELDMENT, UPRIGHT, PUSHDOWN, TITANI
WELDMENT, UPRIGHT, PUSHDOWN, WHITE
WELDMENT, UPRIGHT, PUSHDOWN, BLACK
WELDMENT, UPRIGHT, PUSHDOWN, LTBRON
WELDMENT, UPRIGHT, PUSHDOWN, SAPPHI
HANDLE END CAP W/SET SCREWS, DIA 3/
GRIP,RUBBER, 1" DIA, 36"

BUMPER, WEIGHT STACK, BLK RUBBER
CAP, GUIDE ROD,DIA 3/4, BLK

CARBINE, HOOK, LARGE, 3/8" DIA, 31
PULLEY, 4 1/2 DIA. X 1/2 ID

BAR,,FLAT CR/HR, 3/8 X2 X 8 1/4,3

GUIDE ROD,DIA 3/4 X (80 3/4),#8,CHM
SCREW, BUTTON HEAD, BLK XYLAN,5/16
WASHER, SPLIT, 5/16 ID, BL

WASHER, FLAT, TYPE A, SAE, 5/16 ID
WELDMENT, END CAP W/BOLTDOWN, SKY W
WELDMENT, END CAP W/BOLTDOWN, BLACK
WELDMENT, END CAP W/BOLTDOWN, RED
WELDMENT, END CAP W/BOLTDOWN, PLATI
WELDMENT, END CAP W/BOLTDOWN, SILVE
WELDMENT, END CAP W/BOLTDOWN, BLUE
WELDMENT, END CAP W/BOLTDOWN, CHARC
WELDMENT, END CAP W/BOLTDOWN, CATHE
WELDMENT, END CAP W/BOLTDOWN, SILVE
WELDMENT, END CAP W/BOLTDOWN, STONE
WELDMENT, END CAP W/BOLTDOWN, TITAN
WELDMENT, END CAP W/BOLTDOWN, WHITE
WELDMENT, END CAP W/BOLTDOWN, BLACK
WELDMENT, END CAP W/BOLTDOWN, LTBRO
WELDMENT, END CAP W/BOLTDOWN, SAPPH
WELDMENT, TOP PULLEY HSG PLATE, FIX
PULLEY, 4 1/2 DIA. X 1/2 ID

TUBE, VINYL, 5/8 OD X 3/8 ID X 1.50

LABEL, PRECOR USA ICARIAN LINE

HANDLE END CAP W/SET SCREWS, DIA 1"
GRIP,RUBBER, 1" DIA, 12"

55.13
55.14
55.15
55.16
56.01
56.02
56.03
56.04
56.05
56.06
56.07
56.08
56.09
56.11
56.12
56.13
56.14
56.15
56.16
57
57
79
80
81
82
83
84
86
87
88
89.01
89.02
89.03
89.04
89.05
89.06
89.07
89.08
89.09
89.11
89.12
89.13
89.14
89.15
89.16
90
91
92
94
95
96



CWwW12537-109
CWCLRT321-500
Cwa31711-721
CW30497-721
CwW10043-132
CWAC1008-101
Cw12402-101
CwW12404-101
Cw12575-101
Cwa31922-711
CWPF1016-731
CWPF1218-711
CWCAYNO025-050
CWHCCNO050-650
Cw30897-101
CWAC4019-101
Cwa31713-721
CWPD1105B-101
CWPD1105B-102
CWPD1105B-103
CWPD1105B-104
CWPD1105B-105
CWPD1105B-106
CWPD1105B-107
CWPD1105B-108
CWPD1105B-109
CWPD1105B-110
CWPD1105B-111
CWPD1105B-112
CWPD1105B-113
CWPD1105B-115
CWPD1105B-116
CWPD1105B-117
CWPD1105B-118
CWPD1105B-119
CWPD1105B-120
CWPD1105B-121
CWPD1105B-122
CWPD1105B-123
CWPD1105B-124
CWPD1105B-125
CWPD1105B-126
CWPD1105B-127
CWPD1105B-128
CWPD1105B-129
CWEANNO50-075
CwPD1141J-101
CWPD1141J3-102
CWPD1141J3-103
CWPD1141J-104
CWPD1141J3-105

NUT,INSERT,THIN-NUT,LARGE FLANGE
ASSY, CABLE, FTS, 407B

WELDMENT, FTS ADJ. HI-LOW PULLEY SL
WELDMENT, W/2 PULLEY WHEELS, WRKL B
BUSHING, BRONZE, 1/2" ID X 3/4" OD
PULLEY, 31/2 DIA. X 1/2ID

BUMPER, WEIGHT STACK, BLK RUBBER
CAP, GUIDE ROD,DIA 3/4, BLK

MOULDED BUMPON, BLACK, 31.75MM SQ (
SELECTOR, ADJ. HI-LOW, 29 HOLES, CH
BAR,,FLAT CR/HR, 3/8 X2 X 8 1/4,3
GUIDE ROD,DIA 3/4 X (80 3/4),#8,CHM
SCREW, SOCKET HEAD, BLK XYLAN
SCREW, HEX HEAD, ZINC, 1/2-13 X6 1
HANDLE, WEBBING 22.5", D-RING
ACCESSORY, HANDLE , SINGLE D, SOLID
WELDMENT, FTS ADJ. HI-LOW PULLEY SL
PAD,9X17,4HOLES,W/BP,BLACK
PAD,9X17,4HOLES,W/BP,RYL BL
PAD,9X17,4HOLES,W/BP,DVE GRY
PAD,9X17,4HOLES,W/BP,CROCUS
PAD,9X17,4HOLES,W/BP,GROTTO
PAD,9X17,4HOLES,W/BP,GRAPHITE
PAD,9X17,4HOLES,W/BP,RED
PAD,9X17,4HOLES,W/BP,CHN GRN
PAD,9X17,4HOLES,W/BP,TURQSE
PAD,9X17,4HOLES,W/BP,RASP
PAD,9X17,4HOLES,W/BP,PLUM
PAD,9X17,4HOLES,W/BP,REGIMENT
PAD,9X17,4HOLES,W/BP,SPC BLUE
PAD,9X17,4HOLES,W/BP,BLK LTHR
PAD,9X17,4HOLES,W/BP,NVBL LTH
PAD,9X17,4HOLES,W/BP,PUTTY
PAD,9X17,4HOLES,W/BP,IMPRL BLUE
PAD,9X17,4HOLES,W/BP,YEW GREEN
PAD,9X17,4HOLES,W/BP,DUSTY JADE
PAD,9X17,4HOLES,W/BP,TERRA COTTA
PAD,9X17,4HOLES,W/BP,PAPRIKA
PAD,9X17,4HOLES,W/BP,ASH LTHR
PAD,9X17,4HOLES,W/BP,CERULEAN LTHR
PAD,9X17,4HOLES,W/BP,CHARCOAL LTHR
PAD,9X17,4HOLES,W/BP,HUNTER LTHR
PAD,9X17,4HOLES,W/BP,MOSS LTHR
PAD,9X17,4HOLES,W/BP,SPICE LTHR
PAD,9X17,4HOLES,W/BP,TOMATO LTHR
SCREW, SET, SCKT, CUP POINT, 1/2-13
PAD,4X19,2HOLES,W/BP,BLACK, W/SLIP
PAD,4X19,2HOLES,W/BP,RYL BL, W/SLIP
PAD,4X19,2HOLES,W/BP,DVE GRY, W/SLI
PAD,4X19,2HOLES,W/BP,CROCUS, W/SLIP
PAD,4X19,2HOLES,W/BP,GROTTO, W/SLIP

97

98

99

103
104
105
106
107
108
109
110
111
112
113
114
115
116
116.01
116.02
116.03
116.04
116.05
116.06
116.07
116.08
116.09
116.1
116.11
116.12
116.13
116.15
116.16
116.17
116.18
116.19
116.2
116.21
116.22
116.23
116.24
116.25
116.26
116.27
116.28
116.29
117
118.01
118.02
118.03
118.04
118.05



CWPD1141J-106
CwWPD1141J3-107
CWPD1141J-108
CWPD1141J3-109
CwWPD1141J-110
CwWPD1141J-111
CWPD1141J3-112
CwWPD1141J-113
CWPD1141J3-115
CWPD1141J-116
CwPD1141J3-117
CWPD1141J-118
CWPD1141J3-119
CWPD1141J3-120
CwWPD1141J-121
CWPD1141J3-122
CWPD1141J3-123
CWPD1141J-124
CWPD1141J3-125
CWPD1141J3-126
CwWPD1141J3-127
CWPD1141J3-128
CWPD1141J3-129
CWGR2605-000
CWKAYNO063-075

CWWACNNO063-009

CWAC4003-101
CWAC4011-101
CWAC4013-101
CWSA1081-731
CW31595-731
CWwWa31597-731
CWAC4020-101
CWwWa31591-731
CWAC4003-101
CWAC4011-101
CW10505-721
CW10510-721
CW10520-721
CWAC1133-101
Cwa30172-751
Cwa30173-751
CWLDNNO038-200
Cw30184-901
CwW30386-721
Cwa30387-721
CWwa30385-721
CW10540-722
CW10550-721
CW10550-722
Cwa30132-712

PAD,4X19,2HOLES,W/BP,GRAPHITE, W/SL
PAD,4X19,2HOLES,W/BP,RED, W/SLIP
PAD,4X19,2HOLES,W/BP,CHN GRN, W/SLI
PAD,4X19,2HOLES,W/BP, TURQSE,W/SLIP
PAD,4X19,2HOLES,W/BP,RASP,W/SLIP
PAD,4X19,2HOLES,W/BP,PLUM, W/SLIP
PAD,4X19,2HOLES,W/BP,REGIMENT,W/SLI
PAD,4X19,2HOLES,W/BP,SPC BLUE,W/SLI
PAD,4X19,2HOLES,W/BP,BLK LTHR,W/SLI
PAD,4X19,2HOLES,W/BP,NVBL LTH,W/SLI
PAD,4X19,2HOLES,W/BP,PUTTY,W/SLIP
PAD,4X19,2HOLES,W/BP,IMPRL BL,W/SLI
PAD,4X19,2HOLES,W/BP,YEW GRN,W/SLIP
PAD,4X19,2HOLES,W/BP,DSTY JD,W/SLIP
PAD,4X19,2HOLES,W/BP,TER COT,W/SLIP
PAD,4X19,2HOLES,W/BP,PAPRIKA,W/SLIP
PAD,4X19,2HOLES,W/BP,ASH LTHR,W/SLI
PAD,4X19,2HOLES,W/BP,CERULEAN LTHR,
PAD,4X19,2HOLES,W/BP,CHARCOAL LTHR,
PAD,4X19,2HOLES,W/BP,HUNTER LTHR,W/
PAD,4X19,2HOLES,W/BP,MOSS LTHR,W/SL
PAD,4X19,2HOLES,W/BP,SPICE LTHR,W/S
PAD,4X19,2HOLES,W/BP, TOMATO LTHR,W/
GRIP,RUBBER, 1" DIA, 5"

LOCKNUT, NYLON INSERT, FULL, UNC, 5
WASHER, NYLON, 5/8 ID X 15/16 OD X
ACCESSORY, PRO STYLE BAR, SOLID, 32
ACCESSORY, HANDLE , NYLON ROPE W/BA
ACCESSORY, LAT BAR , SOLID, 48"
ASSY,LAT BAR,BLK ZNC

HANDLE, NARROW GRIP ROW, BLACK ZINC
HANDLE, WIDE GRIP ROW, BLACK ZINC
ACCESSORY, HANDLE , DOUBLE D, SOLID
HANDLE, TRICEP PUSHDOWN, BLACK ZINC
ACCESSORY, PRO STYLE BAR, SOLID, 32
ACCESSORY, HANDLE , NYLON ROPE W/BA
ASSY, PLATE, WEIGHT, 05 LBS, WRKL B
ASSY, PLATE, WEIGHT, 10 LBS, WRKL B
ASSY, PLATE, WEIGHT, 20 LBS, WRKL B
BUSHING, WEIGHT PLATE, LDPE PLASTIC
ASSY, 4.00 IN WEIGHT STACK PIN AND
ASSY, 6.00 IN WEIGHT STACK PIN AND
PIN, ROLL, DIA 3/8 X 2

ASSY,BARREL,TOP PLATE,ALUMINUM
WELDMENT, WEIGHT, TOP, STP-T, PF118
WELDMENT, WEIGHT, TOP, STP-T, PF118
WELDMENT, WEIGHT, TOP, STP-T, PF233
PLATE, WEIGHT, SMALLTOP (STP-T), 10
PLATE, WEIGHT, MED TOP (MTP-S), 10
PLATE, WEIGHT, MED TOP (MTP-S), 10
SELECTOR STEM, 20 PLATE,0 .875 DIA,

118.06
118.07
118.08
118.09
118.1
118.11
118.12
118.13
118.15
118.16
118.17
118.18
118.19
118.2
118.21
118.22
118.23
118.24
118.25
118.26
118.27
118.28
118.29
119
122
123
125
126
127
128
129
130
131
132
133
134
200
201
202
203
227
228
250
251
253
254
260
282
283
283
309



Cwa30133-711
CwWa30133-712
Cw30011-101

CWAC1185-101

Cw12401-101
CWw12401-102
CWw12401-103
CWwW12401-104
CWwW12401-105
CW12401-106
CwW12401-107
CwW12401-108
CWwW12401-109
Cw12401-110
Cw12401-111
Cw12401-112
CWw12401-113
CWw12401-114
CWwW12401-115
CW12401-116
Cw12401-117
CWw12401-118
CWwW12401-119
CWwW12401-120
Cw12401-121
CwW12401-122
CWwW12401-123
CW12401-124
CW12401-125
CW12401-126
Cw12401-127
CwW12401-128
CWwW12401-129
CWwW12401-130
Cw12401-131
CwW12401-132
CW12401-133
CW12401-134
CW12401-135
CW12401-136
CWwW12401-137
CWwW12401-138
CWwW12401-140
Cwa30387-721
CWwW12401-142
CW12401-144
CW12401-145
CW12401-146

SELECTOR STEM, 25 PLATE,0 .875 DIA,
SELECTOR STEM, 25 PLATE,O0 .875 DIA,
LABEL,WARNING WEIGHT STACK

LABL,KEEP HND&FT CLR(CEMCO)3/8X6.75

LABEL, WEIGHT PLATE, 7.5 LBS/ 3.5 K
LABEL, WEIGHT PLATE, 10 LBS/ 4.6 KG
LABEL, WEIGHT PLATE, 12.5 LBS/ 5.7
LABEL, WEIGHT PLATE, 15 LBS/ 6.8 KG
LABEL, WEIGHT PLATE, 17.5 LBS/ 8 KG
LABEL, WEIGHT PLATE, 20 LBS/ 8 KG
LABEL, WEIGHT PLATE, 22.5 LBS/ 10.2
LABEL, WEIGHT PLATE, 25 LBS/ 11.4 K
LABEL, WEIGHT PLATE, 27.5 LBS/ 12.5
LABEL, WEIGHT PLATE, 30 LBS/ 13.6 K
LABEL, WEIGHT PLATE, 32.5 LBS/ 14.8
LABEL, WEIGHT PLATE, 35 LBS/15.9 K
LABEL, WEIGHT PLATE, 37.5LBS/ 17 K
LABEL, WEIGHT PLATE, 40 LBS/ 18.2 K
LABEL, WEIGHT PLATE, 42.5 LBS/ 19.3
LABEL, WEIGHT PLATE, 45 LBS/ 20.5 K
LABEL, WEIGHT PLATE, 47.5 LBS/ 21.6
LABEL, WEIGHT PLATE, 50 LBS/ 22.7 K
LABEL, WEIGHT PLATE, 55 LBS/ 25 KG
LABEL, WEIGHT PLATE, 60 LBS/ 27.3 K
LABEL, WEIGHT PLATE, 65 LBS/ 29.5 K
LABEL, WEIGHT PLATE, 70 LBS/ 31.8 K
LABEL, WEIGHT PLATE, 75 LBS/ 34.1 K
LABEL, WEIGHT PLATE, 80 LBS/ 36.4 K
LABEL, WEIGHT PLATE, 85 LBS/ 38.6 K
LABEL, WEIGHT PLATE, 90 LBS/ 40.9 K
LABEL, WEIGHT PLATE, 95 LBS/ 43.2 K
LABEL, WEIGHT PLATE, 100 LBS/ 45.5
LABEL, WEIGHT PLATE, 110 LBS/ 50 KG
LABEL, WEIGHT PLATE, 120 LBS/ 54.6
LABEL, WEIGHT PLATE, 130 LBS/ 59.1
LABEL, WEIGHT PLATE, 140 LBS/ 63.6
LABEL, WEIGHT PLATE, 150 LBS/ 68.2
LABEL, WEIGHT PLATE, 160 LBS/ 72.7
LABEL, WEIGHT PLATE, 170 LBS/ 77.3
LABEL, WEIGHT PLATE, 180 LBS/ 81.8
LABEL, WEIGHT PLATE, 190 LBS/ 86.4
LABEL, WEIGHT PLATE, 200 LBS/ 90.9
LABEL, WEIGHT PLATE, 220 LBS/ 100 K

WELDMENT, WEIGHT, TOP, STP-T, PF118

LABEL, WEIGHT PLATE, 240 LBS/ 109.1
LABEL, WEIGHT PLATE, 260 LBS/ 118.2
LABEL, WEIGHT PLATE, 280 LBS/ 127.3
LABEL, WEIGHT PLATE, 300 LBS/ 136.4

310
310
311
312
314
315
316
317
318
319
320
321
322
323
324
325
326
327
328
329
330
331
332
333
334
335
336
337
338
339
340
341
342
343
344
345
346
347
348
349
350
351
353
354
355
357
359
360



	820 Ten Station, Multi Station
	820 Ten Station, Multi Station
	820 Ten Station, Multi Station2

	820 Ten Station, Multi Station2



